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SECTION A

L Fill in lhc blsks wth .ppoprid. words :

Ir l0-10

(i) CiFl60d aNof cid6 cdnm byh.4

(ii) Angld in hulliptd of 15'sr€ construd.d by

mbindeof ud

(iii)Fd dEeing ldge sia ciEl6 is

.nrchcd ro rhc compors.

(iv) -ll|c odle of th. bdrd d stich T-sq@ k
mlde to sli& is ollcd ir!

(v) T-slue i5 us.d ror dr!*irs _ Iin.s-



(u) Tbc ntio of lh! lcoglb of ttr. .hlwdg of the

objccl ro uE lctusl ld$h of lh. object is

{

t
(vii)\h6 thc n6l|twdls G tlquiltd i. the

(viii) Dn*in8 ofbuildings N dllm uiog

(ix) Wh.n prcjectm N p@llel to eeh otad
ds p€rFrdicnld ro the pl6e, dE Pojcd(n
s ollcd

(x) len.rric s..1. is 6€d i!

2, Wnte 0F dcscription ed
the followng lines :

(b) Harchins lire

(c) Prcjerion line

(d) Hidden line

(e) cun'ng plo. linc

2"5=10
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3, Choose lhe coEcd !nsw4 r lx5-5

(i) Thc outer mon pan of8 LhBad is €llcd Cdsl

(ii) The soeq is specificd by rh€ mnjor / minor
/ noDiml dide(6.

(iii)ftc lqd h €qual to pilch in cN oi single

sbn/doublc sl.n oread.

(iv) In a lap/buirjoint the phr6 rd b€.onndted
ovcrl6? sch orhq.

(v) scal6 havine une rcpreMlalivc facrion but

gEdultcd to rcad diffftnt Mits @ callcd

dirgon l / cmt@tive sale.

SI]CTION B

Answer mylve queslioN.

I (,) whcr are rhc t*o systms
dincDsioos on a &lwins ?

(ii) Draw o sole ot l:60 to shos nelrcs

dccimeGcs and long oouSh to m€6ure

5

5

(iii)Cons@ct a diagonal wlc ot RF _- 1/4000

Lo show netrcs, md lone 6ougn to n6urc
uPto 500 neLres. 5
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2. (i) An aes of 144 sq. cm on a na! rcpresis
& dea of 16 sq krn on rhe field. Find rhe R.F
of lhe scale lor this map dd dEs rhe diagoal
scale to show kikrmcEs, heLomctd dd
demckes lo m&sure uILo l0 krlometls.

4+5=9

(n) DEw. line PQ l00uD long. AL o.r, poif,(
O in ir ned its .cntre, crccl a peQendicular
oA 65nm lon8. Ihrousi A. .liaw d line
pdallel ro PQ. 6

(i) construct a retbalc of rides 65nm

(ii) conslocr a E8uldr pcnuSon or30 m
(iii)Construc' a rosuhr

Draw the prcjcctions of
lne see ercund line,

hcxason in a Dircl. ot
4+5+6=15

the following poinls on

k€rping the p6J6[o6
2.5.6't5

(a) ln the H.P ad 20mn behind the vP.

(b) 40 m sbovc rh.ll.P ed 25 Im in fronr of
rhe vP
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(d)

30/M.l0l/ED

li.P,

E

In rhc VP Md 40 mn ebovc lhe

(
25 nm bclow the H,P dd 25 mn

{e) I 5 nrm abov. th. H.P ed I 5 mn behind the

(O 40 m bcl(N H.P dd 25 m 
'n 

ftont ofVP

5. (i) A poi P i! l5 tln lbovc ihe rl P ed 20 Dn
in froit of th. VP tuomn Poinl Q is 25 bm

hddnd lhc VP ed 40 nn below the H P

Ddw P|ojccfiN or P ed Q k@Pine the

distd@ b.tween lheir Fojccrou cqual to

90m. Dtlq stEitit lines joining (i) lheir

lop vids &d (ii) tlheir tMr v'Ns. 1

(ii) A l00mm lory linc is pdallel Lo ed 40 m
dbov. fi. H,P. ILs tso ends tue 25 m md

50 m i. fimt of the VP rcsp€crivell Draw

ils proj.cdon ed Uod iis inclinarion with th€

o)



6. (i) Dzw lhe im.tric vi4 of the ANtID of tb
@ne 6 shM iD lhc figw 1

t

(i') D|lw the folowhg lics ofth€ blek !ho$n

Ue 6ird anglc prcjc.tim m.thod (i) Frcnt
view (ii) Top vi$v (iii) Bo$ siiic viM S
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7. (i) Ddw lhrce vievs ot e hcxasontl nut for e

24 nm d'4cter boli, 4cording to aPPrcxF

m.lrly srodlrd din€NiN 9

(ii) wnr. rhe following in vc.ticd siyle. lleidr
of the l.tt6 should bc l5m. Att ndon my
be giva to Oicro6s, lhrF ot l.fla!, spoci.g

ud gdcral ldBdarl,
.BELIEVE IN YOURSELF" 6
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